Count forwards and backwards and write numbers to 20 in numerals and words

0 Match the picture to the numeral. o Write the numerals in words.
00000 a) 12
B ceecs |
00000 "
b) 13
o s )
12 14 17 ) 15
G Here is a number. d) 18
00000 00000 e) 20
0000
a) What is the number? e Complete the number tracks.
b) Use counters and ten frames. @ 101111 12
Make this number in a different way.
Draw your counters. Zj
& 12 | 13
18 17
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Count forwards and backwards and write
numbers to 20 in numerals and words

0 Match the picture to the numeral.

T see
e

000
12 14

IITITITTD
A A A |

—_
~N

e Here is a number.

a) What is the number? }5

b) Use counters and ten frames.

Make this number in a different way.
Draw your counters.

o 101 O] O 010|0]0
O] 1O 0190

4

&l®






e Write the numerals in words.
a) 12 weloe

b) 13 Enrteen

Q15 __ Liltieon

d) 18 exsmw

e) 20 Lueniu

e Complete the number tracks.

10 | 11 [ 1202 | a1

Tllol 123y s | e

18 | 17 |l [ S i 2o o] 9
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Tens and ones

o a) How many apples are there?

LA

D

D

D

00

D

00

D

D

D

00

There is } tenand| O | ones.
There are 'S | apples.

b) How many bees are there?

€3 &2 | & &2 | €3 &)

€2 ||| &) P3| & |
There is } ten and C] ones.
There are [ O[ bees.






o Draw counters to show 1 ten and 3 ones. @

1 ten and 3 ones is equal to

e Match the number sentences to the pictures.

(HEEEEEEEEE

1 ten and 7 ones "R N EREENE
D w
[ (|
1 ten and 1 one - @
g a @

1 ten and 8 ones

LITTITTIT1P





e Complete the sentences.

a) 1 ten and 6 ones = Zé
b) ]g = 1 ten and 3 ones
c) 15 = ) ten and 5 ones

d) 2 tens = QO

e) 1 ten and 10 ones = 20 @

o Is this true or false? @

The ten frames show the number 16

White
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Tens and ones

0 a) How many apples are there?

e Use counters to show 1 ten and 3 ones.

000

9

®0e

D

D

D

D

1 ten and 3 ones is equal to

There is ten and ones.
o Match the number sentences to the pictures.
There are apples. e
PP 1 ten and 7 ones "R R RERREN |
b) How many bees are there? _
- @
‘@7'@?@’ 1 ten and 1 one 1w ®
Se eSS " a ®
There is ten and ones. N
1 ten and 8 ones H &
There are bees.
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Tens and ones

e Use counters to show 1 ten and 3 ones. e Complete the sentences.

a) 1 ten and 6 ones =

1 ten and 3 ones is equal to

b) = 1 ten and 3 ones
o Match the number sentences to the pictures. c) 15 = ten and ones
CLLLLLITD) d) 2 tens =
1 ten and 7 ones "R EERERERE
_ e) 1 ten and 10 ones = O
. W/
] (]
1 ten and 1 one | m ®
] (]
H @
o Is this true or false? @
] The ten frames show the number 16
1 ten and 8 ones H @ C OCCCC
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&\5

0 a) How many sweets are there? e a) Draw counters to show how many pencils
there are.
(L
8¢ 100 so0 00 100"’ s
e T VLT
0@ 0@ 000 poe 0O poe 0G0

b) How many sweets are there?

b) Complete the sentence.

0@ 09 09| 0P
0@ 0@ 0@ 0@ VD¢ (0D |00 0D 0@ V@0

There are pencils.

¢) How do you know you have counted them all? @

¢) Which were easier to count? Why? @ e

I am going to count

from 21 to 36

Will Rosie say the number 29?
How do you know? @
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Numbers to 50

c a) How many sweets are there?

"""mm"' m"'m

...m...m...mm,.,
0@e 0@0 0@¢ 9@ V@4 p@¢ V@0

There are| 22 | sweets.

b) How many sweets are there?

3K

0@9| 0@ 090
0@9| 0@ |0P0

3K
$ | ¢

$ | &

0@
0@

There are| 22 |sweets.

¢) Which were easier to count? Why? Q}



e a) Draw counters to show how many pencils ‘ZL/)
there are.

VYT

b) Complete the sentence.

There are l 8 pencils.
¢) How do you know you have counted @
them all?

e I am going to count
from 21 to 36

Will Rosie say the number 29?7 _es

How do you know? @

White
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Tens and ones |

c How many apples are there?

There are

There are

AL AL AL AL 4
¢ ¢ ¢ e ¢

¢ ¢ e ¢e ¢¢ ¢ e ¢

AL AL dL

> e e e ee @¢¢ee

tens and

O
£

apples.

ones.




e What number is shown?

There are L; tens and 8 ones.

The number shown is | | &

o Draw base 10 to show each number. @

a) 23 b) 3 tens and 2 ones

( ) ( )

| i




e Complete the number sentences.

a) 1 ten and 8 ones = |8

b) J5 | =2 tens and 5 ones

d 41 =| L tens and J one

d) 37 ones = 3 tensand| / |ones

e) 2 tens and 10 ones = SO

e Eva and Jack are making the same number. Q‘)

Eva’s number has these tens.

LITTTTTTTTTP

Jack’s number has nine ones.

What number are Eva and Jack making?

J
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Tens and ones

0 How many apples are there? o Draw base 10 to show each number.

a) 23 b) 3 tens and 2 ones

O
D

e Complete the number sentences.

Qo

a) 1 ten and 8 ones =

o

¢ ¢ e e ¢
G
O

¢ @ e e ¢

‘ ‘ ‘ b) = 2 tens and 5 ones
¢ 41 = tens and one
There are tens and ones.
d) 37 ones = tens and ones
There are apples.

e) 2 tens and 10 ones =

e What number is shown?

0 O el e Eva and Jack are making the same number. O
1 0 0 0 an Eva’s number has these tens.
Jack’s number has nine ones.
There are tens and ones.

What number are Eva and Jack making?

The number shown is
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Compare numbers within 50

0 Tick the number sentences that are true. o Write <, > or = in each circle.
Use cubes or counters to hel ou. -
- 00000
a) 12 is more than 13 24 !2!!0|
00000
b) 33 is less than 41 00000

¢) 2 tens and 8 ones is equal to twenty-eight

Q 3 tens and 14 ones

d) 40 + 8 is more than 30 + 9

e) Thirty-one is less than 3 tens

e Complete the table.

&

) .. ‘ Write or draw your answers.
e Write the missing phrase. ﬁ)
[ greater than ] [ less than ] [ equal to ] is more than
a) 22 is 29 =
b) 41 is 4 tens
>
¢) Forty-six is 40 + 3
d) 40 + 8 is one more than 47 is less than
is equal to
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Compare numbers within 50

c Tick the number sentences that are true.

Use cubes or counters to help you. ﬁ}u

a) 12 is more than 13

b) 33 is less than 41/

c¢) 2 tens and 8 ones is equal to twenty-eight /
d) 40 + 8 is more than 30 + 9 ./

e) Thirty-one is less than 3 tens

e Write the missing phrase.

@

[ greater than ][ less than ][ equal to ]

a) 22 is Lo Hhon 29
b) 41 is Qreaker Bnan 4 tens
¢) Forty-six is %mter thon 40 + 3

d) 40 + 8 is eguial [o%) one more than 47




e Write <, > or = in each circle.

© ¢

@ 3 tens and 14 ones

N
S

LT TP
LT e
LT TP

(I IT17
P 800

e Complete the table. @

Write or draw your answers. \/0rioud Onswess.

is more than

is less than

is equal to
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